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NEW QUESTION 1

PE-A PE-B
vrf definition Customer-A vrf definition Customer-A
rd 65000:1111 rd 65000:1111
route-target export 65000:1111 route-target export 65000:1111
route-target import 65000:1111 route-target import 65000:1111
I !
address-family ipv4 address-family ipv4
mdt default 233.0.0.1 mdt default 233.0.0.1
mdt data 233.0.0.2 0.0.0.0 threshold 100 mdt data 233.0.0.3 0.0.0.0 threshold 100
exit-address-family exit-address-family

Refer to the exhibit. Which tree does multicast traffic follow?

A. shared tree
B. MDT default
C. source tree
D. MDT voice

Answer: B

NEW QUESTION 2

Refer to the exhibit. Which effect of this configuration is true?

A. It sets the keepalive timer to 30 seconds and the hold timer to 240 seconds.

B. It sets the keepalive timer to 30 milliseconds and the hold timer to 240 milliseconds
C. It sets the hold timer to 30 milliseconds and the keepalive timer to 240 milliseconds

D. It sets the hold timer to 30 seconds and the keepalive timer to 240 seconds

Answer: A

NEW QUESTION 3
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Router 1 Router 2 Router 3

Interface g0/1 router ospf 100 Interface g0/1

ip address 192.168.0.1 255.255.255.0 network 192.168.1.0 0.0.0.255 area 0 ip address 192 168.0.3 255 255 2550

network 192.168.12.0 0.0.0.255 area 1

router ospf 100 network 192.168.23.0 0.0.0.255 area 3 router ospf 100

network 192.168.12.0 0.0.0.255 area 1 redistribute connected subnets

nssa network 192.168.23.0 0.0.0.255 area 3

redistribute connected subnets

Refer to the exhibit. After troubleshooting an OSPF adjacency issue, routers 1, 2, and 3 have formed OSPF neighbor relationships. Which statement about the
configuration is true?

A. Router 2 receives a Type 5 LSAs from router 1 for its connected subnets

B. Router 2 uses router 3 as the next hop for 192.168.0.0/24

C. Router 2 uses router 1 as the next hop for 192.168.0.0/24

D. Router 2 receives a Type 7 LSAs from router 3 for its connected subnets

Answer: A

NEW QUESTION 4

DRAG DROP

Compare different features between OSPFv2 and OSPFv3. Drag and drop the descriptions of OSPF from the left onto the correct OSPF versions on the right.

Select and Place:

A. Mastered
B. Not Mastered

Answer: A

NEW QUESTION 5
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Router 1:

interface TenGigEQ/1
point-to-point
address-family ipv4 unicast
fast-reroute per-prefix
Fast-reroute per-prefix ti-Ifa

R1#show isis fast-reroute 172.16.200.9/32

L2 172.16.200.9/32 [30/115]
via 192.168.20.1, TenGigEO/1, R2, SRGB Base: 16000, Weight: 0
FRR backup via 192.168.30.1, TenGigEQ/2, R3, SRGB Base: 16000,
Weight: 0, Metric 40

Refer to the exhibit. Router 1 is connected to router 2 on interface TenGigEOQ/1. Which interface provides the alternate path to 172.16.200.9/32 when the link

between router 1 and router 2 goes down?

A. TenGigEO/1 interface provides the alternate path
B. A backup path must be statically installed

C. TenGigEO0/2 interface provides the alternate path
D. A primary path must be manually installed

Answer: C

NEW QUESTION 6

You have configured MSDP peering between two autonomous systems that pass traffic between two sites, but the peering has failed to come up. Which task do

you perform to begin troubleshooting the problem?

A. Verify that multicast has been disabled globally

B. Verify that PIM-DM is configured on the source interface

C. Verify that both source interfaces are reachable from both peers
D. Verify that the two MSDP peers allow asymmetric routing

Answer: C

NEW QUESTION 7

Refer to the exhibit. Which task must you perform on interface g1/0/0 to complete the SSM implementation?
A. configure OSPFv3

B. enable CDP

C. disable IGMP

D. configure IGMPv3

Answer: D

NEW QUESTION 8

Refer to the exhibit. Router 1 has attempted to establish a Cisco MPLS TE tunnel to router 2, but the tunnel has failed. Which statement about this configuration is

true?

A. Router 1 must define an explicit path to router 2

B. Router 1 and router 2 must define the RSVP bandwidth reserved on the physical interfaces
C. Router 2 must have a tunnel interface created with router 1 as the destination

D. Router 1 must have Cisco MPLS TE enabled on interface gigabitethernet0/1

Answer: D

NEW QUESTION 9

Which command is used to enable BIDIR-PIM under global configuration mode for Cisco IOS XE Sofware?
A. ip pim bidir-enable

B. ipv4 pim bidir-enable

C. ip multicast-routing

D. ip pim bidir

Answer: A

NEW QUESTION 10

Which output from the show isis interface command helps an engineer troubleshoot an IS-IS adjacency problem on a Cisco I0S-XR platform?

A. metric
B. priority
C. circuit type
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D. hello interval

Answer: D

NEW QUESTION 10

A network engineer is troubleshooting OSPF multiarea. Which Cisco I0S XR feature should the engineer use in order to streamline OSPF issue?

A. hierarchical CLI

B. DR support for topology management

C. routing process enabled by default on all interfaces
D. show ip ospf topology command

Answer: A

NEW QUESTION 13

router bgp 65515
neighbor 192.168.1.1 route-map ciscotest in
neighbor 192.168.1.1 remote-as 65516

ip as-path access-list 1 permit_65517_
route-map ciscotest permit 10

match as-path 1
set local-preference 150

Refer to the exhibit. After troubleshooting BGP traffic steering issue, which action did the network operator take to achieve the correct effect of this configuration?

A. Routes that have passed through AS 65517 have the local preference set to 150.

B. Routes that have originated through AS 65517 have the local preference set to 150.

C. Routes directly attached to AS 65517 have the local preference set to 150.

D. Routes that have passed through AS 65517 have the local preference set to 150 and the traffic is denied.

Answer: A

NEW QUESTION 17

In a PIM-SM environment, which mechanism determines the traffic that a receiver receives?

A. The receiver explicitly requests its desired traffic from the RP on the shared tree.

B. The receiver explicitly requests traffic from a single source, which responds by forwarding all traffic.
C. The RP on the shared tree floods traffic out of all PIM configured interfaces.

D. The receiver explicitly requests traffic from each desired source, which responds by sending all traffic.

Answer: D

NEW QUESTION 19

segment-routing
global-block 18000 24999

RP/0/0/CPUQ:iosxr#

RP/0/0/CPUQ:iosxr# show run segment-routing

Refer to the exhibit. A network engineer implemented this segment routing configuration. Which statement about the output is true?

A. This range conflicts with the segment routing local block range.

B. The device must be reloaded for these ranges to be allocated and used.
C. The default segment routing global block range is being used on this device.
D. A nondefault segment routing global block range is being used on this device.

Answer: D

NEW QUESTION 24

Which two characteristics unique to SSM when compared to ASM are true? (Choose two.)

A. It uses SPT switchover
B. It uses (*,G) exclusively
C. It uses IGMPv3

D. It uses RP
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E. It uses (S,G) exclusively

Answer: CE

NEW QUESTION 25
Refer to the exhibit. An engineer has successfully fixed BGP peering issue. R1 has an established eBGP peering with R2 and R3. Which mechanism should the
engineer apply in order to steer the traffic correctly?

A. The MED attribute can be applied on R2 to influence R1 to use it as the primary path.

B. The local preference attribute can be applied on R3 to influence AS 65513 to use AS 65515 as the secondary path.
C. The weight attribute can be applied on R2 to influence AS 65513 to use AS 65515 as the primary path.

D. The IGP metric can be manipulated on R1 to allow traffic to be load balanced between R2 and R3.

Answer: D

NEW QUESTION 28

Refer to the exhibit. Which attribute can router 1 alter so that only other iBGP peers prefer to use 192.168.4.2 as the next hop for route 192.168.3.0/24?
A. MED

B. local preference

C. origin

D. weight

Answer: A

NEW QUESTION 32

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\-/ Exam Recommend!! Get the Full 300-510 dumps in VCE and PDF From SurePassExam
LI Sure PaSS https://www.surepassexam.com/300-510-exam-dumps.html (174 New Questions)

Thank You for Trying Our Product

We offer two products:

1st - We have Practice Tests Software with Actual Exam Questions

2nd - Questons and Answersin PDF Format

300-510 Practice Exam Features:

* 300-510 Questions and Answers Updated Frequently
* 300-510 Practice Questions Verified by Expert Senior Certified Staff
* 300-510 Most Realistic Questions that Guarantee you a Pass on Y our FirstTry

* 300-510 Practice Test Questions in Multiple Choice Formats and Updatesfor 1 Y ear

100% Actual & Verified — Instant Download, Please Click
Order The 300-510 Practice Test Here

Passing Certification Exams Made Easy visit - https://www.surepassexam.com


https://www.surepassexam.com/300-510-exam-dumps.html
http://www.tcpdf.org

